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Introduction to 19mm mvm pg
swopn 779 details the many facets of celebration on m1310 in the wypnia 1172 and has a number of Aggadic tangents,
specifically as regards the w1pni1 1122
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L & mwn: Explication of »:7 — the %n which is performed on 5 or 6 days of n
a.  Referent: the »5n of narywn n»a which is not used on naw or 1 py (>could be 6 days, if 15" is on naw)
b. Note: some read "narw” (per v. 1); some read “n1wn” — as it is an important mxn, anchored in NWwWxI1 "M’ NYY
II.  7:7 "o ®NavIn and subsequent analysis
a.  N7772 DT 720V 1 maintains that 990 trumps naw (and certainly v"); onaon don’t even allow on v
i. Analysisl (9o 27): dispute only about using 55n for 1299 Y® W — all agree to no NaRW Y0 PV
1. Point of dispute: nT 92 °0 "1 — the main nWY is with instruments > playing is an nmay
a.  opom the main nW is singing and the instruments just accompany
2. Proof (901 27): Rn»12 - dispute between nTi 92 *01 1727 if MW *55 may be made of wood
a. Assumption: 27 reads *931 17*W 7’y and we infer from original %°>n (wood)
i. But:»17 reads n9a nw Y - no reason to infer from "nwnT RNIR”
3. Rejection: all agree that *931 n1Ww P>y
a.  Point of dispute: whether we infer 7aRr (our times) from case of 7war *x (original)
4.  Alternate rejection: all agree that na1 nPWw I’y and VAR RWN TWAR 1T PR
a.  Point of dispute: inferring about nw "3 from nn (v.2) which was metal (gold)
i. 237 infers via 0191 Y92>all N9w *Y> must be nonn
ii. 277 infers via V1y'm MNa11->all materials included, only vIn excluded
5. 971 this follows nRin nponn (1:1 127) of identity of instrumentalists in wTpn
a. A7 0N 71y >n9a 1Y IRy (Donly accompanying)
b. 0y 7 families from Emmaus who daughters married into N33 (n9a nw 1pry)
c.  N7anT they were 05 (9321 1w YY)
i. challenge: if so, what is 0V "1’s postion?
1. If: noa nvw 9y, should allow nr1ay
2. If:"931 1w 7p7y, should require o5
d. Rather: all agree that na1 nvw Iy, just disagree about how they actually were
i. Implication: whether we can promote from 1217
1. If slaves: cannot promote from 137
2. If annsb pr'wp. we can promote for pony, not for Ywyn
3. If o5 we promote for pony as well as for Twyn
ii. Analysis2 (xax 73 7707 ’7): dispute only about narw Yw 1»w; all agree that 129p v W is done
1. Point of dispute: whether excess nnnw is (0"17) naw M7
2. Support: Rma records dispute as explicitly about naryw 5w 1w — qoy 1 is refuted
a.  Proposal: perhaps qov 1 is refuted twice — (if they agree about 129p 5w 1)
b. Response (for 9017 77): they may disagree in both
i. And: disagreement recorded re narw Yw 1w shows »"17’s radical stance
c.  Block: »:1 mwn (above) identifies narwn n»a Yv »Yn as the one that isn’t naw nm7
i.  Must be: 127 ("2 allows it) 2 127p HY® VY is performed on naw
b. Tangent: analysis of dispute re: 11w 1y, whether it is singing or instruments
i.  Supports: v3 supports position of '931 nVW pY; v4 supports N1 NPY Py
1. V4: could be interpreted as na1 1w Ynn and the instruments accompany
2. V3: could be interpreted as comparing n»¥nn::n»1mwn — both by mouth (singing)
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